o

2
A
9
P4
7
Z
z
-,
%
B
Al

NR=ZATUAVS

SWING CLAMPS <TYPE B>

2RAITITSY

—’BEY

(ERON)°
ERON)

No.E-317

ZBEmB Zp=] AN REWLE
2A VT AR SCM420 | BEAHRC60 | Sz
LS — SCM420 | BEAHRCS7
G TROYNFYRTNMT412K 18
,\/\:)
<’\
B WER TV T T
77)7’75#]57‘ FUISUTEE TIYFRAIRD
(A1 RBRBUEEA) TS BELtE ERfITTHE
W% figx
\ ES | AUBU 05YF 05V BARKNLD BARGH HE
=5 —=No. e AT @B bR A0<o . Nm kN kg fie
03494 | EWN-44300B | 14 MI12x1.75 40 = 25 - 30 40 10 0.66| 30,800
03495 | EWN-40600B | 14 M12x1.75 55 = 50 - 60 40 10 0.89| 46,500
03496 | EWN-401058B | 14 M12x1.75 55 = 70 -105 40 10 1.1 49,000
03497 | EWN-40135B | 14 M12x1.75 55 100 -135 40 10 135| 49,900
03498 | EWN-60135B | 14 MI12X1.75 67 10151365 40 10 2.7 61,000
WAFATE _ A
EWN-44300B EWN-40600B M
(N EWN-40105B Jo D)=
(S)fa) §// \M
EWN-40135B N
EWN-60135B o] A
i
Nl .
- © [Jf_
[H] T | -
| J
No. AiB:iCiD:E:F G P H JGEB) LM NGEE)
EWN-44300B | 62 40 44 18 9 29 25 -30 16 36 MI2x1.75 19 - - -
EWN-40600B | 75 55 40 20 21 23 50 - 60 16 36 MI12x1.75 19 40  10.5 M12X1.75
EWN-40105B | 75 55 40 20 21 23 70 -105 16 : 36 MI12x1.75 19 40 = 10.5 M12x1.75
EWN-40135B | 75 55 40 20 21 23 100 -135 16 36 MI12x1.75 19 40 105 MI12x1.75
EWN-60135B | 89 67 50 17 22 . 23 10151365 16 . 55 MI12x1.75 19 60 14 M12X1.75
WEREER
EWN-44300B . EWN-40600B. 401058, ®
. 40135B,60135B .
S
W Loy o WA =)
@ | FARILS T @ | AERILS °
@ | T ® o | FEs %a
@ | RA VTR ST Q| RA VT ~YR
@ | 2FUT @ | 2FUvT @c
® | mLg— B ® | YUvs—mLT— o
® | AT LED L (F5E) ® | 7 AErUTLEDHRL (F4)

http://www.nabeya.co.jp



	F214J_0120

